BID SUMMARY July 1, 2013

1. No. CC070113-02.1 – Pavement Rehabilitation Project – Bel Aire Dr, Wayside Dr and Belmont Dr, Project No. 12-2071 / CIP No. 50549

ADVERTISING AUTHORITY \$250,000.00 ENGINEER'S ESTIMATE \$165,000.00

Base Bid
1. Hills Materials Company**
2. Simon Contractors of SD, Inc.**
3. J&J Asphalt Company
\$157,583.25

2. No. CC070113-02.2 - Minnekahta Drive Area Watermain and Sanitary Sewer Reconstruction, Project No. 11-1980 / CIP No. 50826

ADVERTISING AUTHORITY \$1,050,000.00 ENGINEER'S ESTIMATE \$1,214,401.51

Base Bid
1. Hills Materials Company**
2. Heavy Constructors, Inc.**

\$1,229,852.36
\$1,259,292.14

3. No. CC070113-02.3 - One (1) New Current Model Year Vacuum Street Sweeper, Street Division

ESTIMATE \$210,000.00

Base Trade Total
1. Sheehan Mack Sales & Equipment, Inc.** \$233,745.00 \$13,000.00 \$220,745.00

4. No. CC070113-02.4 – One (1) New Current Model Year Tandem Dump Truck with Plow and Slide-In Sander, Street Division

ESTIMATE \$125,000.00

	Base	Sander	Trade	l otal
1. Eddies Truck Center, Inc.**	\$145,922.00	\$17,000.00	\$11,000.00	\$151,922.00
2. Eddies Truck Center, Inc.**	\$150,577.00	\$17,000.00	\$11,000.00	\$156,577.00
3. Boyer Trucks Sioux Falls*	\$148,544.00	\$17,000.00	\$15,000.00	\$150,544.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID SUMMARY July 1, 2013

5. No. CC070113-02.5 - Landfill Cell 16 Expansion General Construction – Rapid City Municipal Landfill, Project No. 13-2111

ESTIMATE \$2,500,000.00

	Base Bid
1. Frattalone Companies, Inc.**	\$1,819,806.95
2. Quinn Construction, Inc.**	\$2,139,496.75
3. Lind-Exco, Inc.**	\$1,812,935.53
4. Site Work Specialist, Inc.**	\$1,714,240.25

6. No. CC070113-02.6 - Landfill Cell 16 Liner Installation – Rapid City Municipal Landfill, Project No. 13-2112

ESTIMATE \$500,000.00

	Base Bid
1. COMANCO Environmental Corporation**	\$749,140.00
2. Clean Air and Water Systems, LLC**	\$768,155.26
3. Geo-Synthetics, LLC**	\$759,001.00
4. American Environmental Group, LTD**	\$710,403.75

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: June 25, 2013

PROJECT: Landfill Cell 16 Expansion General Construction - Solid Waste

Division

RECOMMENDATION: Award Total Bid in the amount of \$1,714,240.25 to Site Work Specialists at the July 1, 2013 Council Meeting contingent upon approval by the South Dakota Department of Environmental and Natural Resources.

BIDDERS' SUMMARY

Quinn Construction Inc. ind-Exco Inc.	<u>TOTAL BID</u>
Frattalone Companies	\$1,819,806. 95
Quinn Construction Inc.	\$2,139,496.75
Lind-Exco Inc.	\$1,812,935.53
Site Work Specialists Inc.	\$1,714,240.25

ADVERTISING AUTHORITY

FUNDING SOURCE	Solid Waste	Solid Waste
COST CENTER	7102	7103
LINE ITEM	4320	4320
FUND	0615	0616
ESTIMATED COST:	\$1,250,000	\$1,250,000

APPROPRIATION DATA

FUNDING SOURCE	Solid Waste	Solid Waste
COST CENTER	7102	7103
LINE ITEM	4320	4320
FUND	0615	0616
ESTIMATED COST:	\$857,120.12	\$857,120.13

Project Manager: Justin Vangraefschepe	$\alpha \lambda$	Date:	6/25/2013	
--	------------------	-------	-----------	--

PROJECT NAME: LANDFILL CELL 16 EXPANSION CONSTRUCTION

PROJECT NUMBER: PROJECT NO. 13-2111

LET DATE: JUNE 25, 2013 LOW BID AMOUNT: \$1,714,240.25

					ENGINEER'S ESTIMATE		SITE WORK SPECIALISTS, INC.		QUINN CONSTRUCTION, INC.		FRATTALONE COMPANIES, INC.		LIND-EXCO, INC.	
ITEM NO.	STD. BID ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	1a	MOBILIZATION AND DEMOBILIZATION	LS	1	\$26,643.75	\$26,643.75	\$40,000.00	\$40,000.00	\$180,000.00	\$180,000.00	\$198,290.00	\$198,290.00	\$18,590.97	\$18,590.97
2	1b	INCIDENTAL WORK	LS	1		\$0.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$39,690.00	\$39,690.00	\$78,913.63	\$78,913.63
3	1c	SURVEYING AND STAKING	LS	1		\$0.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$31,570.00	\$31,570.00	\$85,000.00	\$85,000.00
4	1d	PERFORMANCE AND PAYMENT BOND	LS	1		\$0.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$20,210.00	\$20,210.00	\$30,018.45	\$30,018.45
5	1e	PROJECT MANAGEMENT / QUALITY CONTROL	LS	1	\$10,843.00	\$10,843.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$36,800.00	\$36,800.00	\$10,344.62	\$10,344.62
6	2a	CRUSH EXISTING CONSTRUCTION DEBRIS TO 2' OR LESS	TON	1,000	\$21.32	\$21,315.00	\$16.00	\$16,000.00	\$10.00	\$10,000.00	\$8.65	\$8,650.00	\$11.71	\$11,710.00
7	2b	OVEREXCAVATE 3' AT DEWATERED POND TO STOCKPILE*	CY	6,979	\$9.02	\$62,960.00	\$6.50	\$45,363.50	\$7.00	\$48,853.00	\$2.60	\$18,145.40	\$7.36	\$51,365.44
8	2c	DEWATERING AFTER CONSTRUCTION BEGINS	LS	1	\$5,679.00	\$5,679.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$8,630.00	\$8,630.00	\$12,383.46	\$12,383.46
9	3a	EXCAVATE, HAUL, AND PLACE FILL MATERIAL**	CY	173,884	\$5.71	\$993,077.00	\$1.75	\$304,297.00	\$3.00	\$521,652.00	\$2.50	\$434,710.00	\$2.23	\$387,761.32
10	3b	EXCAVATE, HAUL, AND PLACE EXCESS MATERIAL IN STOCKPILE AREA**	CY	868	\$6.79	\$5,898.00	\$4.50	\$3,906.00	\$2.50	\$2,170.00	\$4.15	\$3,602.20	\$6.03	\$5,234.04
11	3c	EXCAVATE, HAUL, AND PLACE CLAY SUBGRADE MATERIAL FROM BORROW AREA	CY	8,324	\$10.28	\$85,538.00	\$6.00	\$49,944.00	\$7.00	\$58,268.00	\$3.80	\$31,631.20	\$2.51	\$20,893.24
12	3d	EXCAVATE, HAUL AND PLACE OPERATIONS LAYER MATERIAL	CY	28,478	\$5.71	\$162,642.00	\$2.50	\$71,195.00	\$8.00	\$227,824.00	\$3.40	\$96,825.20	\$6.79	\$193,365.62
13	3e	FINISH LINER SUBSOIL	SY	49,945	\$0.42	\$20,844.00	\$1.00	\$49,945.00	\$0.50	\$24,972.50	\$0.56	\$27,969.20	\$0.87	\$43,452.15
14	3f	ANCHOR TRENCH	LF	2,691	\$7.60	\$20,464.00	\$4.00	\$10,764.00	\$8.00	\$21,528.00	\$12.20	\$32,830.20	\$5.04	\$13,562.64
15	4a	18" X 24" HDPE ECCENTRIC REDUCER	EA	1	\$882.13	\$882.13	\$1,400.00	\$1,400.00	\$1,600.00	\$1,600.00	\$2,920.00	\$2,920.00	\$1,702.84	\$1,702.84
16	4b	24" SDR 11 PERFORATED HDPE SUMP PIPE AND FITTINGS	LF	10	\$152.14	\$1,521.40	\$275.00	\$2,750.00	\$300.00	\$3,000.00	\$292.00	\$2,920.00	\$316.82	\$3,168.20
17	4c	8" SDR 11 SOLID HDPE LEACHATE COLLECTION CLEANOUT PIPE AND FITTINGS	LF	1,435	\$23.81	\$34,173.00	\$23.00	\$33,005.00	\$29.00	\$41,615.00	\$25.25	\$36,233.75	\$22.69	\$32,560.15
18	4d	8" SDR 11 SLOTTED HDPE LEACHATE COLLECTION PIPE AND FITTINGS	LF	1,990	\$25.22	\$50,192.00	\$36.00	\$71,640.00	\$45.00	\$89,550.00	\$32.75	\$65,172.50	\$28.33	\$56,376.70

		T		1	1	ı	Ī	ī	Ī	T	1	ı	Ī.	
19	4e	1-1/2" SDR 11 SOLID HDPE CLEANOUT WATER LINE PIPE AND FITTINGS 2" SDR 11 PERFORATED HDPE	LF	252	\$9.09	\$2,291.00	\$12.50	\$3,150.00	\$20.00	\$5,040.00	\$3.40	\$856.80	\$11.88	\$2,993.76
20	4f	CLEANOUT WATER LINE PIPE AND FITTINGS	LF	36	\$9.81	\$353.00	\$10.00	\$360.00	\$27.00	\$972.00	\$6.70	\$241.20	\$17.50	\$630.00
21	4g	LEACHATE COLLECTION 1" CLEAN AGGREGATE	CY	1,838	\$37.86	\$69,588.00	\$80.00	\$147,040.00	\$53.00	\$97,414.00	\$31.50	\$57,897.00	\$54.28	\$99,766.64
22	4h	LEACHATE COLLECTION GEOTEXTILE	SY	3,458	\$1.89	\$6,525.00	\$5.50	\$19,019.00	\$3.00	\$10,374.00	\$2.25	\$7,780.50	\$6.50	\$22,477.00
23	4i	LEACHATE COLLECTION FILTER (SAND)	CY	2,981	\$27.88	\$83,113.00	\$60.00	\$178,860.00	\$47.00	\$140,107.00	\$28.50	\$84,958.50	\$52.42	\$156,264.02
24	5a	18" SDR 11 HDPE - RISER PIPE AND FITTINGS	LF	256	\$92.36	\$23,644.00	\$98.00	\$25,088.00	\$69.00	\$17,664.00	\$91.50	\$23,424.00	\$90.56	\$23,183.36
25	5b	3" SDR 11 HDPE LEACHATE DISCHARGE PIPE	LF	96	\$30.68	\$2,945.00	\$25.00	\$2,400.00	\$11.00	\$1,056.00	\$22.50	\$2,160.00	\$19.32	\$1,854.72
26	5c	8" SDR 17 HDPE FUSED SEWER PIPE	LF	2,752	\$43.25	\$119,029.00	\$22.00	\$60,544.00	\$37.00	\$101,824.00	\$49.75	\$136,912.00	\$30.46	\$83,825.92
27	5d	48" STANDARD MANHOLE	EA	9	\$8,120.56	\$73,085.00	\$3,250.00	\$29,250.00	\$3,500.00	\$31,500.00	\$3,420.00	\$30,780.00	\$4,066.94	\$36,602.46
28	5e	REMOVE AND REPLACE FENCING	LS	1	\$2,331.00	\$2,331.00	\$7,700.00	\$7,700.00	\$1,200.00	\$1,200.00	\$1,380.00	\$1,380.00	\$1,723.20	\$1,723.20
29	5f	CORE DRILL EXISTING MANHOLE AND CONNECT	LS	1	\$1,197.93	\$1,197.93	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$1,930.00	\$1,930.00	\$828.33	\$828.33
30	5g	PUMP ASSEMBLY***	LS	1	\$19,101.86	\$19,101.86	\$35,000.00	\$35,000.00	\$27,000.00	\$27,000.00	\$31,570.00	\$31,570.00	\$32,973.74	\$32,973.74
31	5h	CELL DISCHARGE STRUCTURE: PLUMBING, CONCRETE, STUCTURAL, AND MECHANICAL	LS	1	\$20,920.00	\$20,920.00	\$90,000.00	\$90,000.00	\$30,000.00	\$30,000.00	\$70,320.00	\$70,320.00	\$39,204.15	\$39,204.15
32	5i	CELL DISCHARGE STRUCTURE: ELECTRICAL AND CONTROLS	LS	1	\$22,721.00	\$22,721.00	\$25,000.00	\$25,000.00	\$39,000.00	\$39,000.00	\$32,640.00	\$32,640.00	\$41,239.40	\$41,239.40
33	5j	2" DIA FLEX HOSE OR THERMOPLASTIC PIPE (PRESSURE RATED) AND FITTINGS	LF	270	\$14.72	\$3,975.00	\$10.00	\$2,700.00	\$16.00	\$4,320.00	\$6.10	\$1,647.00	\$20.81	\$5,618.70
34	6a	24" SDR 11 DUAL WALL HDPE STORMWATER PIPE WITH FLARED END SECTIONS	LF	194	\$204.39	\$39,651.00	\$50.00	\$9,700.00	\$63.00	\$12,222.00	\$53.50	\$10,379.00	\$58.86	\$11,418.84
35	6b	CLASS 1 RIPRAP	SY	125	\$34.61	\$4,326.00	\$34.00	\$4,250.00	\$48.00	\$6,000.00	\$54.75	\$6,843.75	\$116.76	\$14,595.00
36	6c	TEMPORARY STORMWATER DIVERSION BERM	LS	1	\$3,778.00	\$3,778.00	\$5,000.00	\$5,000.00	\$30,000.00	\$30,000.00	\$27,440.00	\$27,440.00	\$6,844.88	\$6,844.88
37	6d	8" POLY BALL VALVE FOR TEMPORARY STORMWATER DIVERSION BERM	EA	1	\$3,317.90	\$3,317.90	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$2,390.00	\$2,390.00	\$1,865.38	\$1,865.38
38	6e	DRAINAGE DITCH	LF	490		\$0.00	\$9.00	\$4,410.00	\$4.00	\$1,960.00	\$5.90	\$2,891.00	\$5.01	\$2,454.90
39	7a	WATER POLLUTION CONTROL	LS	1	\$162,560.00	\$162,560.00	\$20,000.00	\$20,000.00	\$7,000.00	\$7,000.00	\$2,880.00	\$2,880.00	\$24,287.65	\$24,287.65
40	7b	TOPSOIL, STRIP, STOCKPILE & REPLACE	LS	1		\$0.00	\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00	\$35,090.00	\$35,090.00	\$37,756.52	\$37,756.52
41	7c	HAULING AND PLACING CO-COMPOST	TON	293		\$0.00	\$15.00	\$4,395.00	\$20.00	\$5,860.00	\$13.30	\$3,896.90	\$3.73	\$1,092.89
42	7d	CONSTRUCTION ENTRANCE, VEHICLE TRACKING CONTROLS	EA	1		\$0.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,730.00	\$1,730.00	\$2,412.29	\$2,412.29
43	7e	SURFACE ROUGHENING	ACRE	5		\$0.00	\$200.00	\$900.00	\$400.00	\$1,800.00	\$1,820.00	\$8,190.00	\$552.54	\$2,486.43

44	7f	12" DIA. SEDIMENT CONTROL WATTLE	FT	4,764		\$0.00	\$4.50	\$21,438.00	\$5.00	\$23,820.00	\$8.05	\$38,350.20	\$3.25	\$15,483.00
45	7g	TYPE 2 EROSION CONTROL BLANKET	SY	4,409		\$0.00	\$2.00	\$8,818.00	\$2.50	\$11,022.50	\$2.40	\$10,581.60	\$2.68	\$11,816.12
46	7h	SEED, FERTILIZE & FIBER MULCH	SY	32,567		\$0.00	\$1.25	\$40,708.75	\$1.25	\$40,708.75	\$1.05	\$34,195.35	\$0.33	\$10,747.11
47	8a	12-INCHES AGGREGATE ACCESS ROAD	SY	3,400	\$17.92	\$60,914.00	\$12.50	\$42,500.00	\$15.00	\$51,000.00	\$12.20	\$41,480.00	\$10.92	\$37,128.00
48	8b	8 OZ/SY NONWOVEN GEOTEXTILE FABRIC	SY	3,400	\$1.61	\$5,469.00	\$2.00	\$6,800.00	\$2.00	\$6,800.00	\$1.15	\$3,910.00	\$2.62	\$8,908.00
49	9a	SIGNAGE	EA	15	\$159.87	\$2,398.00	\$200.00	\$3,000.00	\$200.00	\$3,000.00	\$287.50	\$4,312.50	\$172.55	\$2,588.25
50	9b	START-UP, TESTING, AND TRAINING	LS	1		\$0.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$2,880.00	\$2,880.00	\$9,907.45	\$9,907.45
51	9c	AS-BUILT SURVEY	LS	1		\$0.00	\$20,000.00	\$20,000.00	\$5,500.00	\$5,500.00	\$1,070.00	\$1,070.00	\$5,553.95	\$5,553.95
	TOTAL					\$2,235,905.97		\$1,714,240.25		\$2,139,496.75		\$1,819,806.95		\$1,812,935.53